TMALE OF DISRUPTION,

IWI\TH A DEBT TWIST!

Interest payments with hope and potential?




The Story Stock
-

The Tesla Story Choices
Business Focus COrggggtwe Investment intensity Risk
1. Auto : 1. First Mover : 1. Auto
1. High-End 1. Manufacturing )
2. Tech 2 Mass Market 2. Style/Brand 2 Tech/Electronics 2. Tech/Electronics
3. Clean Energy 2. Technology l
Operating - ; 1. Operating Risk
Total Market | X | MarketShare | X Margin il 2. Survival Risk
T |




From Story to Value!

— Higher Revenues
High End Mass Market
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From Height to Height: The market loves

Tesla
CO

Tesla Inc
NASDAQ: TSLA - Aug 9, 11:28 AM EDT

365.31 uso 40.09 (0.02%)

1 day 5 day 1 month 3 month 1 year S year max
Open 361.00 Mkt cap 58.63B
High 370.00 P/E ratio
Low 358.95 Div yield



Leaping over the establishment...
-

Company Morket Cap |Enterprise Value | Revenues | EBITDA | Cars Sold (2016) | EV/Sales |EV/Car Sold
Toyota Motor § 1674065  297,693| S 249,750| $31,653| 10,175,000 119 [§ 2926
Volkswagen S 761015 2285225 256,924| $32,833 10,310,000 089 |§ 217
Daimler AG § 753995 1950948 182010( $20,674| 2083888 107 [§ 9362
BMW S 610895  158029(9 111,287] $15101| 2003359 142 |§ 7888
Tesla § 60951 $ 68,948(5 10069(5 734 94152 685 |§ 73231
General Motors § 51946(5 120708 S 170,231 $21,490( 7951972 071 [$§ 1518
SAIC Motor Corporation §  51365(§ 51,302| § 110,059 § 4,091 2600000 047 |§ 1973
Honda Motor § 50396 96,712| § 126,769| 511,913 4743000 076 [$ 2039
Ford Motor § 43252(% 1609445 153,596| $13987| 6651000 105 [§ 242
Nissan Motor S 38626(5 103,260 S 105274|S 9,978 5,556,241 098 |5 1858




While delivering growth (though not

profits)
-

Tesla's Growth Spurt: 2010 - 2017

$12,000 100000
The Auto Disruptor
Tesla's revenues have increased from close to 90000
$10,000 nothing in 2008 to more than $10 billion in
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And Changing the Auto Business

0 The Early Response: While it was dismissed by the other
automobile companies as a newcomer that would learn the
facts of life in the sector, as it aged, the reverse has occurred.

0 The Status Quo shifts: It is the conventional automobile
companies that are, slowly but surely, coming to the
recognition that Tesla has changed their long-standing
business with its innovations. Volvo, a Swedish automaker not
known for its flair,

, and

0 In a hide-bound sector: A little more than a decade after it
burst on to the scene, it is a testimonial to Elon Musk that he
has started the disruption of one of the most tradition-bound
sectors in business.




Valuation Update

0 Story Update: My story for Tesla, from July 2016, of a
company that will be able to meld the margins and
reinvestment needs of a tech company with the revenues of
an automobile company remains intact.

o Numbers Update: There were two tweaks to the numbers:

o Higher end-year revenues: The revenues in year 10 will be close to $93
billion, up from $82 billion in my July 2016 valuation.

O Lower reinvestment: The improved operating margins reduce
reinvestment needs to fund growth. You still have seven years of

negative free cash flows totaling $15.5 billion, requiring capital
infusions.

o Value Update: Updated value per share of $192.34, up from
$151.85 from July 2016.




Tesla (August 2017)

I

The Story

Tesla is an auto/tech company looking towards the mass market. Its primary competitive advantages lies in superior battery technology and brand loyalty with a secondary|
advantage in styling/design. In terms of investment needs and risk, it is as much tech as auto company. The combination of cash burn (negative cash flows for the next
seven years) and a large debt burden exposes the firm to distress risk, reflected in a 10% probability of failure.

|
|
The Assumptions |
Base year Years 1-5 Years 6-10 After year 10 Link to story ]
Revenues (a) S 10,069 35.00% 35%->2.23% 2.23% Mass market focus = $100 billion in revenue |
Operating margin (b) -1.02% -1.02% =t 12.00% 12.00% Tech superiority & brand = High margins |
Tax rate 30.00% 30.00% ===t 30,00% 30.00% Global marginal tax rate average |
Reinvestment (c ) Sales to capital ratio 2.24 RIR = 24.78% Invest like an auto/tech company |
Return on capital 0.71% Marginal ROIC = 30.52% 9.00% In maturity,, has tech features '
Cost of capital (d) 8.83% T 7.50% | 7.50% 50% auto, 50% technology i
The Cash Flows |
Revenues Operating Margin |EBIT EBIT (1-t) Reinvestment FCFF
1 S 13,593 0.28% S 39S 39|S 1573 | § (1,535))
2 S 18,351 1.59% S 291 | S 291 | S 2,124 | § (1,833)
3 S 24,774 2.89% S 715 | § 715 | S 2867 | S {2,152)
4 S 33,444 4.19% S 1,401 | S 1,401 | S 3871 | S (2,470)
5 S 45,150 5.49% S 2,479 | S 2,304 | S 5,226 | S (2,922)
6 S 57,993 6.79% S 3,940 | S 2,758 | § 5734 | S (2,976))
7 S 70,689 8.09% S 5722 | S 4,005 | S 5,668 | S (1,662))
8 S 81,531 9.40% S 7,661 | S 5363 | S 4,840 | S 522
9 S 88,693 10.70% S 9,489 | § 6,642 | S 3,197 | S 3,445
10 S 90,671 12.00% S 10,880 | 7,616 | S 883 | S 6,733
Terminal year S 92,693 12.00% S 11,123 | § 7,786 | § 1929 | $ 5,857
The Value |
Terminal value S 111,137
PV(Terminal value) S 49,472
PV (CF over next 10 years) S (6,108)
Value of operating assets = S 43,364
Adjustment for distress S 2,168 Probability of failure = 10.00% |
- Debt & Mnority Interests $ 10,328
+ Cash & Other Non-operating assets S 3,036
Value of equity S 33,904
- Value of equity options S 3,533
Number of shares 157.90
Value per share S 192.34 Stock was trading at = $365.00




Tesla’s Challenges
-1

o Can Tesla sell millions of cars? The revenues that | project in
2010 will require Tesla to sell close to 2 million cars, in the
face of increased competition.

o Can it make millions of cars? There are two production tests
that Tesla has to meet. The first is timing, since the deliveries
have been promised for the middle of 2018 and the assembly
lines have to be humming by then. The second is cost, since a
subtext of the Tesla story, reinforced by Elon Musk, is that the
company has found new and innovative ways of scaling up
production at much lower costs than conventional
automobile companies.

0 Can it generate double digit margins? In my valuation, |
assume an operating margin of 12% for Tesla, almost double
the average of 6.33% for global auto companies.
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Tesla’s Odd Financing Choices

Tesla's Debt Load

$15,000 | The Debt Burden J 90.00%
The company has chosen to fund itself with
large debt issues, year after year, pushing the
debt to 61% of book capital. $10322 80.00%
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With a new debt issue coming up..

0 That debt load, already high, given Tesla’s operating cash
flows is likely to get even bigger if Tesla succeeds in
its , Which it is hoping to
place with an interest rate of 5.25%, trying to woo bond
buyers with the same pitch of growth and hope that has
been so attractive to equity markets.

0 That suggests that those making the pitch either do not
understand how bonds work (that bondholders don't get
to share much in upside but share fully in the downside)
or are convinced that there are enough naive bond
buyers out there, who think that interest payments can
be made with potential and promise.
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The Debt Equity Trade off

DEBT OR EQUITY: THE LIGHT AND DARK SIDES

The Light Side The Dark Side
Shows up in value as Debt Effect Debt Effect Shows up in value as
THE REAL FACTORS
Higher cash flows -
to equity from tax Tax Benefits Bankruptcy Cost

savings on interest
expenses or a
lower after-tax cost

Interest expenses are

-<«—| tax deductible, while

cash flows to equity

of debt are not.
Discplinary Tool

Fewer bad projects Having to make

(earning less than interest expenses

the hurdle rate) will
be taken.

can make managers
more disciplined in
project picking

As you borrow
more, you increase
your likelihood of
distress.

Higher costs for
both equity &

Agency Cost
Lenders &
stockholders have
different interests &
they will clash.

debt + Higher risk
of failure.

Higher interest
rates on debt and

more restrictive
covenants.

THE ILLUSORY FACTORS

ROE will generally
increase as you
borrow money, but
so will your cost of
equity.

-

As you borrow

money, you are

replacing more
expensive equity

with cheaper debt, using more debt will
but increasing the lower your cost of
costs of both. capital.

l«—| the cost of equity,

Higher ROE
Using more debt in
funding investments
will increase ROE.

Cheaper Debt
Since the cost of
debt is lower than

Lower Net Income
As you borrow, the

resulting interest
expenses will lower
net income.

Lower Ratings
Borrowing will
lower bond ratings

Net income will be
lower, but you will
also have less
equity invested iin
the business.

& increase cost of
debt.

\

Your cost of debt
rises as you borrow
more, but it will still
be replacing more

expensive equity.

THE TRANSIENT FACTORS

debt/equity mix, in either direction:
- If equity is over priced and debt carries too high an interest rate, you will use more equity & less debt
- If equity is under priced and debt carries too low an interest rate, you will use more debt & less equity.

To the extent that your equity is mipriced or your debt carries the wrong interest rate, market frictions can affect your
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And why debt does not make sense for

Tesla
CO

o No tax benefits: It is a company that is not only still losing money but has
carried forward losses of close to $4.3 billion, effectively nullifying any tax
benefits from debt for the near future.

o No disciplinary function: With Elon Musk, the largest stockholder at the
company, at the helm, there is no basis for the argument that debt will
make managers more disciplined in their investment decisions.

0 Large bankruptcy risk: The company is still young and losing money,
and adding a contractual commitment to make interest payments on top
of all of the other capital needs that the company has, strikes me as
imprudent, with the possibility that one bad year could its promise at risk.

0 Agency problems: In a company like Tesla, making large and risky bets in
new businesses, the chasm between lenders and equity investors is wide,
and lenders will either impose restrictions on the company or price in
their fears (as higher interest rates).

14



So why is Tesla borrowing?
-

0 The Dilution Bogeyman: The first is that the company or its
investment bankers are so terrified of dilution, that a stock
issue is not even on the table. Once the dilution bogeyman
enters the decision process, any increase in share count for a
company is viewed as bad, and you will do everything in your
power to prevent that from happening, even if it means
driving the company into bankruptcy.

0 Inertia: Auto companies have generally borrowed money to
fund assembly plants and the bankers may be reading the
capital raising recipe from that same cookbook for Tesla. That
is incongruent with Elon Musk’s own story of Tesla as a
company that is more technology than automobile and one
that plans to change the way the auto business is run.
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What Tesla should do..

0 Issuing shares to fund investment needs will increase the
share count at Tesla by about 3-4% (which is what you
would expect to see with a $1.5 billion equity issue) but
that is a far better choice than borrowing the money and
binding yourself to make interest payments.

0 If Tesla is dead set on not raising its share count, why not
issue long term, really low coupon convertible
bonds, ,abond onlyin
name since almost all of its value came from the
conversion option (which is equity with delayed
dilution)?
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The Conclusion

0 The Tesla story continues to evolve, and there is much in
the story that | like. It is changing the automobile
business, a feat in itself, and it is starting to deliver on its
production promises.

o The next year may be manufacturing hell, but if the
company can make its through that hell and find ways to
deliver the tens of thousands of Tesla 3s that people
have put down deposits for, it will be well on its way.

o | still find the stock to be too richly priced, even given its
promise and potential, for my liking, but this much |
know. | would rather own equity in this company than
the bonds that it is planning to issue.
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